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MENSURATION

FITU T OTS

1. CUBOID
Let length = /, breadth = b and height = 7 units. Then
i. Volume = (/ x b x h) cubic units.

ii. Surface area = 2(/b + bh + A7) 5. units.

iii. Diagonal = v 12 + b2 + < units.
2. CUBE
Let each edge of a cube be of length &. Then,

i. Volume = &~ cubic units.

ii. Surface area = 6a< S0. units.

iii. Diagonal = 3Ja units.

25/03/2024 MENSURATION/ 19GET276 - VQAR11/S.SHARMILA/EEE/SNSCT 2/16



MENSURATION

FITU T OTS

3. CYWLINDER

Let radius of base = r and Height {or length)y = . Themn,

i. Wolurme = (1T rzh} Ccubic units._
ii. Curved surface area = (271 ) sq. units.
ili. Total surface area = Z27r{H + r) sq. units.
A CONE

Let radius of base = r and Height = /M. Themn,

i. Slant height, ! = A< + re units.
=2 _ 1 o, i =
il. Wwolume = [El‘rr hl:I cubic units.
iii. Curved surface area = (IT/') 5g. units.

iwv. Total surface area = (1T + Tr.r“?} SO, Uunits. °
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MENSURATION

FITU T OTS

2. SPHERE

Let the radius of the sphere be r. Then,
i. Wolume = [:%Trr?*j cubic units.
ii. Surface area = (4T r2) sq. units.

& HEMISPHERE

Let the radius of a hemisphere be r. Then,
: . = 3 - g
. WVolume = [gﬂr j cubic units.

ii. Curved surface area = (2T r<)} sq. units.
iii. Total surface area = (37 r2) sq. units.

MNote: 1 litre = 1000 cm>.
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I TIOTS

A right triangle with sides 3 cm, 4 cm and 5 cm is rotated the side of 3 cm to form a cone. The volume of the cone

so formed Is:

A, 12T em
B 15T cm>
C. 18T cm>
] 201 cm>

Answer: Option A
Explanatic:n:

= = cm = S cm
L L
-+ =+
= cm
Radius = 2 cm
Clearly, we hawe r = 3 cmand »2 = 4 cn.
1 > 1 > ) 3 )
Volurﬂe=§nr R = Exﬂxa x4 |CMT = 42T cm™. )
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FITY IO 1S

Im a shower, > cm of rain falls. The volume of water that falls on 1.5 hectares of ground is:
A, THou.m

B. 7/20cu m
C. 7500 cu.m

. FS000 cu. m

Answer: Option B

Explanation:
1 hectare = 10,000 m=2

So, Area = (1.5 x 10000) mZ = 15000 m=2.

S 1
Depth = ——m = —m.
100 20
1
- Wolume = (Area x Depth) = [15[:!:}:}:-: ﬁjmg = 750 m>. °
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MENSURATION

FITU T OTS

66 cubic centimetres of silver is drawn into a wire 1 mm in diameter. The length of the wire in metres will be:

A. B84
B. 90
C. 168
D. 3236

Answer: Option A
Explanation:

Let the length of the wire be A.
: 1 1
Radius = Emm = E—c:m_ Then,

= Zx 1L xlxn=66
¥ 20 20

BEX20X20x T
= 1 = oo =8400 cm =84 m.
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MENSURATION

FITU T OTS

Ahallis 15 m long and 12 m broad. If the sum of the areas of the floor and the ceiling is equal to the sum of the
areas of four walls, the volume of the hall is:

A. T20
B. 900
C. 1200
D. 1800

Answer: Option C
Explanation:
212+ 12y x i = 2(15 x 12)

— R _1BDm —Em
27 3

T,
. Volume = 15}:12}-:?”1 = 1200 m°.
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MENSURATION

T IOt
A hollow iron pipe is 21 cm long and its external diameter is 8 cm. IT the thickness of the pipe is 1 cm and iron
weighs 8 gfcm?, then the weight of the pipe is:

A. 3.6Kg
B. 3.696 kg
C. 36 kg

D. 36.9 Kg

Answer: Option B
Explanation:
External radius = 4 cm,

Internal riadius = 3 cm.

. = [ 2 2 3
Volume of ron = = X [(4)° - (3)°] x 21 cm
22 3
= - xTFrx1x21|cm
= 462 cm®.

weight of iron = (462 x 8) gm = 3696 gm = 3.696 Kkg.
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FITU T OTS

A boat having a length 3 m and breadth 2 m is floating on a lake. The boat sinks by 1 cm when a man gets on it.

The mass of the man is:

A. 12Kkg
B. 60 kg
& 2k
D

95 kg

Answer: Option B
Explanation:

Volume of water displaced

Mass of man = Volume

(3 x2x001) m?

0.05 m->.

of water displaced x Density of water

= (0.06 x 1000) kg

= 60 Kg.
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MENSURATION

FITY IO 1S

20 men took a dip in a2 water tank 40 m long and 20 m broad on a religious day. If the average displacement of

waterbyamanis 4 m3: then the rise in the water level in the tank will be:

A. 20cm
B. 25cm
C. 35cam
D. 50cm

Answer: Option B

Explanation:

Total volume of water displaced = (4 x 50) m® = 200 m?.

200
. Rise | = m 0.25 m = 25 cm.
Rise in water level [dD . EGJ ..
o
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MENSURATION

FITY IO 1S

The slant height of a right circular cone is 10 m and its height is 8 m. Find the area of its curved surface.

A. 30T m2
B. 40T m?
C. 60T m?
D. 80T m?

Answer: COption C
Explanation:
f=10m,

h=8m.
So, r=+12-h-=J(10-8-=6m.

Curved surface area =T = (T x 6 x 10) m? = 60T m?

25/03/2024 MENSURATION/ 19GET276 - VQAR11/S.SHARMILA/EEE/SNSCT 12/16



MENSURATION
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A metallic sheet is of rectangular shape with dimensions 48 m x 36 m. From each of its comers, a square is cut off

s0 a3 to make an open box. If the length of the square is 8 m, the volume of the box (in ﬂ‘"la} is:

A. 4830
B. 5120
C. b420
D. 89560

Answer: Option B
Explanation:

Clearly, /1 = {48 - 18)m = 32 m,
b = (36 -16)m = 20 m,

f1=8m.

. Volume of the box = (32 x 20 x 8) m3 = 5120 m? °
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Addarge cube is formed from the material obtained by melting three smaller cubes of 3, 4 and 5 cm side. What is the
ratio of the total surface areas of the smaller cubes and the large cube?

A, 21
B. 3:2
C. 25:18
D. 27:20

Answer: Option C

Explanation:

Wolume of the large cube = (33 + 43 + 53} 216 cm>.

Let the edge of the large cube be a.

So a° =216 = a=6cm.

2 2 2
GX(3-+4°+ 5 S0
RE-EILIiFE‘d ratio = [ { :I] =

6 x 62
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. How many bricks, .
A. 5600

B. 6000

C. 6400

D. 7200

Answer: Option C

Explanation:

Number of bricks = =6400.

Volume of the wall B 800 x600x 22.5
Volume of 1brick | 25x11.25x6
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THANK YOU
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